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PAPER-I

PART-1 : MATHEMATICS
SECTION - A : 10 Marks

Instruction: Each question under this section carries one mark. Please read each question carefully and
answer them by selecting the right one out of the multiple answers given below each as A, B, C and D.

1. Find the least value of * for which the number 8550*1 is divisible by 3.

85501 Q°¢4IE @@ 3 (OR) QIQ FAIRG 6IR €I, 606@ * Q ATAY AR @6 7

Al (B)2 ' ©)5 (D)8
2.1f 22 = 64, then find the value of 223

AQ 2=64, 606Q 2*°Q JAY 6@6G ?

(A4 (B) 16 (C) 32 (D)8
3. Find 8% of 625.

625 Q) 8% 6@ER?

625 8
(A) = (B) - (©)50 D)5

4. A person purchased an item for Rs. 80 and sold it for Rs. 120. Find his % of profit.

90 @0EQ 80 Ja6q @8 120 9EN6Q FQ6R, A6 §109G! (%) AQ 621 ?
(A) 50% (B) 100% (C) 150% (D) 0%

5. What is the simple interest on Rs. 2000 for 2 years at the rate of interest of 10% per annum.

oI 61693l 10 QIQ6R, 2000 S AR R 9Fq AaR ol QIS 6060 ?
(A)Rs. 100 (B) Rs. 2000 (C) Rs. 400 (D) Rs. 20,000

6. What is the perimeter of a rectangle whose length is 12cm and breadth is 10cm?
Ry 12 60889 6 ag 10 6288eq Bl 9@ 2L R 6a6e 6297
(A) 120cm (B) 120cm? (C) 44cm (D) 44cm?
7. What is the mean of 5, 11, 16, 10 and 18?

5,11,16,10 98° 18 Q QLI 6060 ?
(A)5 (B) 12 (C) 16 (D) 18

8. Find the value of (sin? 8 + cos? 6 — 1).

(Sin?6 + cos?6 - 1) Q MY 660 ?
(A)2 (B) % (©)-2 (D) 0

9. (b-a)? is equal to what?
(b-2)® Q GAY 6RES?

(A) b% —a? (B) a%> — b? (C) b*-a*-2ba (D) b>+ a%- 2ba
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10. Area of a circle having diameter 2¥ is equal to what?
2y QYIQ QE8 9@ QA9 CHQPR 6960 6297
(A) (B) 2mx (C) 4my? (D) m?

PAPER-1
PART-1 : MATHEMATICS
SECTION - B: 40 Marks

Instruction: Each question under this section carries two marks. Please read each question carefully and
answer them by selecting the right one out of the multiple answers given below each as A, B, C and D.

11. If one — third of one — fourth of a number is 15, then three-tenth of that number is :
99 619 99-002IEq 99-Qe1Q¥ A8 15 @9, 606 698 AEHIQ R -Q8AIrE 660 ?
(A) 34 (B) 44 (C) 54 (D) 64
12. Find the value of /66049 (i.e. square root of 66049)
V66049 Q g1 6060 7
(A) 257 (B) 263 (C) 267 (D) 273
13. (12 +3v2 ) is equal to

(12+3v2) Q G4 666 ?

(A)V2 (B)2 (C) 2v2 (D) 42
14.Ram’s salary is increased from Rs. 24,000 to Rs. 30,000. Find the % of increase.

QAR QQAl A8 24000 GEIQ 30000 TEFIQ QRIAIY, 6O6Q QAR AAF 67 6RO 6P Q)
629%

(A) 20% (B) 25% () 30% (D) 40%
15. By selling a fan for Rs. 649, Anil earns a profit of 18%. Find the cost price of the fan.
9@ GefQ 649 JFIER 9Q Q] AR F16RG! 18 AIQ NI AR 9E JAY 6R6E 7
(A) Rs. 550 (B) Rs. 649 (C) Rs.631 (D) Rs. 667

16. If the marked selling price of an article is Rs. 1000, then what is the selling price at a discount rate of
20%?

99 991Q 590 GaQ, gAY A8 1000 & @9, 606Q §0a9! 20 HRIG a9l d6q 6@ QYR
g0 QM JAY 6R66 6RQ 7
(A) Rs. 500 (B) Rs. 800 (C) Rs. 980 (D) Rs. 1200
17.In what time will Rs. 3100 amount to Rs. 6200 at 4% simple interest per annum ?

Q¥ SR 4 QY@ QU QYR 6P6R Qd6Q) 3100 '&° 6200 Sl 6Re?
(A) 4 years (B) 10 years (C) 20 years (D) 25 years



18.

19.

20.

21.

22.

23.
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The sides of a triangle are in the ratio of % 3

W=

and its perimeter is 78 cm. Find the length of the shortest

L

v.4e of the triangle.

78 60800 QY A8 9@ §9Rq AIQAIGE BQEIe 6RA8
QIQQ 634 6060 ?

N |-
wlr
NN

| 9@ 899 §9od

(A) 18cm’ (B) 24cm (C) 36cm (D) 72cm

A mixture of 150 litres of milk and water contains 20% water. How much more water should be added so
that water becomes 25% of the new mixture?

150 ReaQ Qv 6 aidq 9@ Ag46q 20 S0a¢! CIdl 28| 9@ Aes6q 2 660 dld
AeIQea AISiq 2°8 25 099 6297
(A) 5 litre (B) 10 litre (C) 20 litre (D) 25 litre

A man travelled a distance of 61 km in 9 hours. He travelled partly on foot at 4 km/hr and partly on
bicycle at 9 km/hr. What is the distance travelled by him on foot?

@68l @413 61 8.0Q QYR 9 AYER 2PQIQ AR | cABGRIG &8 QIY 67 A g6 4 8.9
62469 1969 OIR 2P FREIEA Y UER QLI AXLE 9 8.8 626I6Q AINPAER
20018 FAPI6RI 64 660 QY QLR SIREIER |

(A) 8 km (B) 12 km (C) 16 km (D) 20 km
Find the area of an equilateral triangle having sides of length 8cm.
8 61400Q At A 9@ IARIQ GQRQ QR 6066 ?

(A) 8v3 cm? (B) 12 cm’ (C) 24 cm? (D) 16v3 cm?
If the radius of a circle is decreased by 50%, then find the % decrease in area.

9@ 9Q@Q IS A 50 668F! QI €Y, 606w 648 QAN CHLTR CA6e F0ae! QId
AIRe ?

(A) 25% (B) 50% (C) 75% (D) 100%

Between a square with perimeter 8 cm and a circle with diameter 2cm, which one will have bigger area?

(A) Circle (B) Square
(C) Both have same area (D) sometimes circle and sometimes square

8 6.8 028 388 9o 94 6896 G 2 64.8 QIIQ FET 9P Q@ ALY QIR CHFPR AUR?

(A) Q@ (B) 94l 68Q
(C) QQE& 63QPm AR (D) 6R6REIER Q@ B 626RER6R Glclel@



115517 / A / Page 6 of 32

24. There are two sections A and B in a class, consisting of 25 and 32 students respectively. If the average
weight of the Students of section A is 45 kg and that of section B is 43 kg, find the average weight of the
whole class.

9@ 66161Q A 6 B Qige QR 699aa6q Q2Iacd 25 & 6 326 @ig €I0 €93 4 caeaq
A Q12010 QIQIQIQ 6AQ 45 3.9 6 69099 B Q1900 QIQLIQ 6aa43 &.9I @9,
6069 694 684Meq) dR8lal QAL R QAR BAQ 6066 ?

(A) 33.87kg (B) 38.87kg . (C) 44ke (D) 43.87kg

25. ‘Mode’ means the most frequent value in a data set. Find the mode of the following data set (53, 23, 18,
23,23, 96, 18, 53, 107, 88 and 53)

9@ calienleq 99019 ATRUQ JAaIQQ cIndial Gag ‘6’ @RIAN? ealeq! 53,
23, 18,23; 23, 96,. 18, 53, 107, BB 42 539 AR 6R60 7

(A) 18 and 23 (B) 18 and 53 (C) 23 and 53 (D) only 53

26. In the equation 5x + 11y = 146, if the value of x is 5, then find the value of y.
QG 9@ AHAQE Sx+11y=14662 X' Q GRT 5 @4, 6669 y Q JAY 6H6E?

(A) 11 (B) 12 (©) 13 (D) 14

27. The ratio between the LCM (Lowest Common Multiple) and HCF (Highest Common Factor) of 5, 15 and
20 is

5,156 20 Q R-91.¢ (RAY ARIQS 48ea) < 6.91.9 (a8 ARIAS JE1a8) Q
QL 60607

(A)1:12 B)11:1 (C)1:11 Oy12: 1
" On simplification, 2\/4—52;\/;‘56 becomes

zﬂszjglﬁ @ AR08 PRICER IR JRY 6960 62Q ?

(A)3+5 B)s | ©)6 - (D)6 5

29. (a+b)’ — (a-b)> =2

(ath)’ - (a-b)’ Q GAY 6@EE Y

(A) 222 (B) 22 (C) 2(a*+b?) (D) 4 ab

30. If you divide 240 into two parts in the ratio of 2:3, then the parts are:

240 @ A8 2:3 AQEIGER QBR 2EIER FAR ALY, 696Q LELFD aR:

(A) 96 and 144 (B) 100 and 140 (C) 120 and 120 (D) 160 and 80
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PART-II

GENERAL SCIENCE
SECTION-A : PHYSICS : (20 Marks)

Instructions : Each question under this section carries one mark. Please read each question carefully and
answer them by selecting the right one out of the multiple answers given below each as A, B, C and D.

31. If the error in the measurement of radius of a sphere is 1%, then the error in the measurement of volume will be
(A) 1.1% B) 3% (©) 5% D) 8%

32. A stone drops from a height of 100 m and simultaneously a stone is thrown up with a velocity of 40 m/s. Find the
time and position when they cross each other. (g=10 m/s?)

(A) 2.5s, 68.75 m (B)2s, 60 m (C)225,40m (D)3s,45m

33. A police jeep is chasing with velocity 45km/h. A thief in another jeep is moving with 155 km/h. Police fires a bullet
with a muzzle velocity of 180 m/s. The bullet strikes the jeep of the thief with velocity

(A) 27 m/s (B) 150 m/s (C) 250 m/s (D) 450 m/s

34. The sum of magnitude of two forces is 18 N and magnitude of their resultant is 12. If the resultant makes an angle of
90° with the smaller force, then find the magnitude of forces.

(A)5N, 13N (B)6N, 12N (C)10N, 8N (D) None of these

35. A staircase has 5 steps each 10 cm height and 10 cm wide. A ball is placed at the top of the stair case.
What minimum horizontal velocity be given to the ball so that it directly hits the lowest plane. (g=10 m/s?)

(A)2 m/s (B) 1 m/s (C) 2.5 m/s (D) V2 m/s

36. Two particles move in concentric circles of radius r; and r» such that they maintain a straight line with the
centre. The ratio of their angular velocities is

Al (B) 11/12 (C) ro/1y (D) 11/2r2

37. The height at which acceleration due to gravity becomes g/9 (where g is the acceleration due to gravity on the surface
of the earth) in terms of R, the radius of earth is

(A) RW2 (B) R/2 (C) V2R (D) 2R
38. A wire is stretched to double its length, the strain produced is

(A)0.5 (B) 1.0 (C) 2.0 (D)2.5
39. When a liquid drop of radius R split into n smaller drops each of radius r then the value of n will be

(A) R/ (B) (rRﬁ ©) (rR)§ OBy

40. A Carnot engine has efficiency 40% (heat sink 27° C). To increase efficiency by 10%, the temperature be increased
by :

(A) 157k (B)257K (©)50.7K (D)35.7K
41. The acceleration of particle executing SHM at its mean position is
(A) infinity (B) varies (C) maximum (D) zero

42. A transverse wave described by y=0.02 sin (x+30t) cm prdpagates on a stretched string of linear density 12 gm™. The
tension on the string is

(A)2.16 N (B) 1.08 N (C)0.108 N (D) 0.0108 N

43. If fundamental frequency of an open pipe is fo . Its fundamental frequency when it is half filled with water is

A) fo (B) fo2 (©) 25 (D) fo/4
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44. Divide charge Q into two parts q and (Q-q), so that the force between the charges is maximum at any separation.
Then q equals .

(A) Q2 B) Q3 ©) QM4 (D) 2Q/5
45. A thin metal sheet is introduced in between a parallel plate capacitor having capacitance C, then

(A) Capacitance still remains C (B) Capacitance > C
(C) Capacitance < C (D) Capacitance become oo

46. A wire carries the current I=4+2t. Find the number of coulombs which pass through between t=5 to t=10 seconds.
(A) 603.3 C (B) 127.4C (C) 164 C (D) 4833 C

47. A charged particle is accelerated through a potential difference of 12kV and acquires a speed 10°ms-!. It is projected
perpendicularly into a magnetic field of strength 0.2 T. The radius of the circle described is

(A)24 cm (B) 18 cm ©)12cm (D) 6 cm

48. Three plane mirrors are mutually perpendicular. The maximum number of images which can be formed is
A)7 ®B)3 ©9 D)6

49. The frequency of a photon emitted by a transition from nth to (n-1)th level is proportional to
(A)n! (B)n*? ©)n3 D) n*

50. Reverse bias applied to a p-n junction diode

(A) increases the minority carrier current (B) lowers the potential barrier
(C) raises the potential barrier (D) increases the majority carrier current

SECTION-B : CHEMISTRY : (20 Marks)

Instruction : Each question under this section carries one mark. Please read each question carefully and
answer them by selecting the right one out of the multiple answers given below each as A, B, C and D.

51. The M™® ion of which of the following transition metal, contains four unpaired 3d electrons

(A) Cr (B) Mn (C) Cu (D) Zn

52.1f both gases are at the same temperature, the rate of effusion of O, is very close to

(A) 0.125 times that of He (B) 0.35 times that of He
(C) 4 times that of He (D) 8 times that of He

53. An adiabatic process is one in which there is no transfer of heat across the boundary between system and
surroundings. For such a process

(A) Pext AV =0 B)gq=o (C)ODAE=0 (D) DAE=q
54. The osmotic pressure of a 0.1 M solution of non-electrolyte non-volatile solute at 0° C is

(A) 2.24atm (B) Zero (C) 4.68atm (D) 7.53atm

55. Addition of which of the following salt to water would cause an increase in pH?

(A) CH3COONa (B) NaCt (C) NHiCt (D) NaxSO4

56.13 g of metal M is deposited at the cathode by passing 0.4 F of electricity. The cathodic reaction is
M"™ + ne” — M. What is the formula of the metal chloride? (at. mass of M =65)

(A) MCY4 (B) MCY; (C) MCt, (D) MCE
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57.Jodine — 131 has a half-life of 8.06 days. What fraction of a sample of *! I will be left after 33 days?

(A) 12 B) 1/4 . ©) 1/8 (D) 1/16
58. Which of the following is used as a strong yellow pigment for road signs and markings?
(A) K2Cr207 . (B) PbCrOq4 (C) PbS (D) CdS
59. Aqueous solution of Mohr’s salt gives the test of ions
(A) NHy (B) Fe*? (C) S03? (D) all
60. Sulphate ion shape is
(A) Planner triangle (B) Trigonal pyramidal (C) Tetrahedral (D) Square planar
61. Which one of the following pairs of ions cannot be separated by H,S in dilute HC{?
(A) Bi*?, Sn*2 (B) AL, Hg™ (C) Zn*?, Cu® (D) Ni*2, Cu™
62. Number of & electrons in cyclobutadieny£ anion ( C4Hs)* is
(A)2 (B) 4 ©) 6 D) 8
63. Isomers which can be interconverted through rotation around a single bond are
(A) Conformers (B) Diastereomers (C) Enantiomers (D) Positional isomers

64. Ozonolysis of 2-methy£ butene -2-yields

(A) Only aldehyde (B) Only ketone
(C) Only carboxylic acid (D) Both aldehyde and ketone

65. Chlorobenzene is

(A) Less reactive than benzy{ chloride (B) More reactive than ethy{ bromide
(C) Nearly as reactive as methy® chloride (D) More reactive than ally£ chloride
66. Phenot gives salicyfdehyde on heating with CHC{3; and KOH at 343K. The reaction is known as
(A) Cannizarro reaction (B) Claisen reaction
(C) Kolbe reaction (D) Reimer — Tiemann reaction

67. Activation of benzene ring by — NHb in aniline can be reduced by treating with

(A) Dilute HCE (B) Ethy? alcohol (C) Acetic acid (D) acety£ chloride

68. Which of the following polymer is used in making non-sticking cooking pans?

(A) PMMA (B) PTFE (C) PAN (D) Nylon-66

69. Toluene absorbs at higher wavelength compared to benzene due to presence of methy{ group which acts
as

(A) Chromophore (B) Auxochrome
(C) Conjugate system (D) Delocalisation of pi-electrons

70. How many grams of CaCO3 will dissolve in distilled water to make 1000 cm® of saturated solution? Ky,
(CaCO3)=4.08 x 10” ( At. Masses : C=12,0=16,Ca=40)

(A) 0.0069 g (B) 0.069 g ©69¢g (D) 69x10*
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SECTION - C: BIOLOGY : (20 Marks)
Instruction: Each question under this section carries one mark. Please read each question carefully a. .
answer them by selecting the right one out of the multiple answers given below each as A, B, C and D.

71. Pneumatophores are found in

(A) The vegetation which is found in marshy and Saline lake
(B) The vegetation which is found in acidic soil

(C) Xerophytes

(D) Epiphytes

72. Transduction in bacteria is mediated by

(A) Plasmid Vector (B) phase Vector (C) Cosmid (D) F-factor
73. The organelle that divides intracellular space into two distinct Compartments, i.e. luminal and extra
luminal
(A) Golgi Apparatus (B) Lysosome
(C) Endoplasmic Reticulum (D) Spherosome

74. Opening and closing of stomata is due to

(A) Hormonal changes in guard cell (B) Change in turgor pressure of guard cells
(C) Gaseous Exchange (D) Respiration

75. An element playing important role in nitrogen fixation is

(A) Zinc (B) Molybdenum (C) Copper (D) Manganese

76. Temperature changes in the environment, affect most of the animals which are

(A) Poikilothermic (B) Homeothermic (C) Aquatic (D) Desert living
77.In which organism, nerve cells are present but brain is absent?

(A) Sponge (B) Bacteria (C) Earthworm (D) hydra
78. The factor required for maturation of Erythrocytes is

(A) Vitamin B-12 (B) Vitamin C (C) Vitamin D (D) Vitamin A

79. In mammals milk is digested by action of

(A) Rennin (B) Amylase (C) Intestinal Bacteria (D) Invertase
80. The function of oxygen is to help in

(A) Child birth (B) Gametogenesis (C) Anaerobic growth (D) Lactation

81. Megasporangium is equivalent to
(A) Fruit (B) Ovule (C) Nucellus (D) Embryo sac.
- 82. Vegetative propagation in mint occurs by

(A) Sucker (B) Runner (C) Offset (D) Rhizome

83. Absence of one sex chromosome carries

(A) Turner’s syndrome (B) Klinefelter’s Syndrome
(C) Down’s syndrome (D) Tay-Sach’s syndrome

84. Number of Barr body in XXXX female is

(A)1 (B)2 ©)3 D)9
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85-:J aya” and “Ratna” developed for green revolution in India are the varieties of

(A) Bajra (B) Maize (C) Rice (D) Wheat
86. Breeding of crops with high levels of minerals, vitamins and proteins is called
(A) Micropropagation (B) Somatic hybridization
(C) Biofortification (D) Biomagnification
87. The age pyramid with broad base indicates
(A) High percentage of young individuals (B) High percentage of old individuals
(C) Low percentage of young individuals (D) A Stable population

88. The number of autosomes in human primary spermatocyte is

(A) 46 (B) 44 (C)23 (D) 22

89. Medical Termination of Pregnancy (MTP) is considered safe up to how many weeks of pregnancy?

(A) 10 weeks (B) 12 weeks (C) 20 weeks (D) 24 weeks
90. Why is usually insulin not administered orally to a diabetic patient?

(A) Insulin is bitter in taste

(B) insulin is a peptide

(C) insulin will lead to a sudden decrease in blood sugar if given orally
(D) insulin leads to peptic ulcer if taken orally

SECTION — D: Crop Production, Agriculture, horticulture, repair and Maintenance of power
driven farm machinery, etc.: (10 Marks)

Instruction : Each question under this section carries one mark. Please read each question carefully and
answer them by selecting the right one out of the multiple answers given below each as 4, B, C and D.

91. The property of the lubricating oil that says about its quality is:
(A) Viscosity (B) Volatility (C) Surface tension (D) Density

92. For completion of one thermodynamic cycle, the crankshaft of a 4-strock diesel engine of a tractor rotates:
(A) 90 degree (B) 180 degree (C) 720 degree (D) 360 degree

93. The function of the tractor differential is:

(A) To transfer power at 90 degree (B) To help in turning
(C) Both (A) and (B) (D) None of the above

94. The grade of lubricating oil used in gearbox of a diesel engine is:

(A) SAE 30 (B) SAE 20 W 40
(C) SAE 90 (D) Any grade can be used

95. The inflation pressure of tractor rear wheel tyre is:

(A) Less than that of front tyre (B) More than that of front tyre
(C) Equal with that of front tyre (D) Not related

96. The branch of agriculture Science dealing with study of field crops is known as:

(A) Soil Science (B) Entomology (C) Nematology (D) Agronomy
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97. The process of growing single crop in a year is known as:
(A) Mono cropping (B) Inter cropping (C) Double cropping (D) Multiple cropping
- 98. The branch of Agricultural Science dealing with fruits, vegetables and ornamental plants is known as:

(A) Agricultural biotechnology (B) Horticulture
(C) Apiculture (D) Aquaculture

99. Which of the following is not a spice crop?
(A) Cumin (B) Pumpkin (C) Ginger (D) Turmeric

100. Improvement in the plant characters in order to produce higher yield comes under

(A) Basic Science (B) Horticulture Science
(C) Plant Breeding and Genetics (D) Soil Science & Agricultural Chemistry
PAPER — 11
Part-I
GENERAL STUDIES

SECTION — A : 50 Marks
Instructions : Each question under this section carries one mark. Please read the questions carefully and
answer them by selecting the right one out of the multiple answers given below each as A, B, C and D.

101. Which sport is associated with Davis Cup?
(A) Tennis (B) Football (C) Cricket (D) Hockey‘

6009 @€ 694 CHRIR XD 7
(A) 6@ (B) O (©) &eaq (D) @&

102. Which is the largest Planet in the solar system?
(A) Saturn (B) Jupiter (C) Mercury (D) Mars
6AlQedeq Q@ e Q1A @'§l?
(A) 618 B)Qw XD ©Qqu (D) AeP@
103. Who were the first Europeans to start trade with India?
(A) The Dutch (B) The English (C) The French (D) The Portuguese

624 geQIENAAIen QIQe A6 gelsa Qlday 21ag GR86R?
(A) BRRIQ (B) &'6QQ (©) Q! D) cgera

104. Who started the Bhoodan movement?

(A) Mahatma Gandhi (B) Vinoba Bhave

(C) Acharya Kripalani (D) Jayaprakash Narayan
QQIA 2R @9 QY FQ2UEM?

(A) FQIQIGNDT (B) Q6Q1Q1 QIEQ

(C) eI @’QI@Q'] (D) @K@l QUQULS!



105. Who is the current Loksabha Speaker?
(A) Meera Kumar (B) Venkia Naidu (C) J. P. Nadda

QEAIQ CRINIAIQ QIOBE @9 2123 ?
A) dlQl @AIQ (B) 6@ Q19Q (©)6a.8. Qe

106. Kalinga prize is related to which field?

(A) Popularization of science (B) Economic science
(C) Solar science (D) Biological science

PR AR 60Q 99LRQ AR ?
(A)BRIGQ IR, @@ aIR) (B) Q10 QRIQ
(C)631q ARIR : (D) @1e IRIQ

107.“Lok Seva Bhawan’ is the new name of which state secretariat?
(A) Telengana (B) Karnataka (C) Odisha

60Q QAR IORAR QU QI 'CRAINEA] QQ'?
(A) 6RERGM QI (B) @dlo'@ (C) BG4l

108. Who wrote the Book “Gandhi & Stalin”?
A) Réj Narayan (B) Louis Fischer (C) Anita Desai

Qi1 96 GG 94 B9 sRdidien ?
(A) QAR QLS (B) AR P&Q (C) 2R 6R4lIR

109. Which of the following mountain passes links Srinagar and Leh?
(A) Mana pass (B) Rohtas pass (C) Nathula pass

F1061Q 9e° 6RQ @ 69@ dQde a°6del @QR?
A)AIel ag (B)6QIQEEP €lg  (O)gal €Ig

110. Lakshadweep is situated in which water body?
(A) Arabian sea (B) Bay of Bengal (C) Pacific ocean

AN 0@ ARG 286 ?
(A) 29 AR (B)@6aPIE QISR (C) 4] ARQIQINQ
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(D) Om Birla

(D) B4 Fa)

N

(D) Chhatisgarh

(D) 264161@

(D) Lalbahadur Shastri

(D) IR ALAQQ Sl

(D) Zojila pass

(D) 6RI@R! €Ig

(D) Atlantic ocean

(D) 2ISRIER AQIAICQ

111. Which of the following longitudes is the standard meridian for determining Indian Standard Time?

(A) 69°30' E (B)75°30'E (C)82°30'E

(D) 82°30' W

62@ QIAAI QIQER WEIE AA, AFIQS dIR HILIG QAAIAIS FQES 62108 ?

(A) 69°30' € (B)75°30'¢ L (©)82°30'¢e

(D) 82°30'¢@
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112. Which of the following is the longest river of the peninsular India?
(A) Narmada (B) Godavari (C) Krishna (D) Mahanadi

QoRde eelriaaaiq 694 @1 QQele adglaq alded aal?
(A) 2dQl (B) 601Q19Q) O as (D) AQIQQ

113. Who designed the Indian parliament in New Delhi?

(A) Gustave Eiffel (B) Le Corbusier
(C) Edwin Landseer Lutyens (D) Bonnano Pisano

Qq16q 2eg6 QIQElY I°I0QeRq 9 Balaq aQEea?
(A) IBIQ 2UREEPR (B) A @@
(0)9e@q QIgTRQ Rsgad (D) 69191601 EQI6R

114.In which century did Vascodagama first land in India
(A) 17" century (B) 15™ century (C) 14™ century (D) 16™ century

QEHBIGNAI 62Q §01Q16Q Fol6r Qe die cardsm (aedien) ?
(A) 9904 §01QT (B) 84l §101Q1 (€)99@4 dolal (D) 68194 §161Q1

115. Which is India’s first artificial satellite?
(A) INSAT (B) Aryabhata (C) Bhaskara (D) Rohini

QKO gaF QP97 Qa9 AP @17
(A) QIS (B) 21498 (©) QIR (D) 6QUQS

116. In which year, India won its first gold medal in Olympic Hockey?
(A)1930 (B) 1928 (C) 1932 (D) 1927
Qe ARG QB6IR6q dalsd 6a6e ¢ a0e @e8iaI?
(A) 1930 (B) 1928 (C) 1932 (D) 1927
117. Which wildlife sanctuary was declared as the first National Park of India?

(A) Kaziranga National park (B) Gir National Park
(C) Nanda Devi National Park (D) Jim Corbett National Park

60Q 9219 QY AL dad Q1L AR QI6e AT 621RAM ?
(A) RIBQEP Q1S1C, QYR (B) Gq @614, QIR
(€) 2Rl 61 Qlo1g, Q@I (D) @4 @666 Q1614, AR

118. For which book, Rabindra Nath Tagore won the Noble Prize in 1913?
(A) Gitimalya (B) Chayanika (C) Manasi (D) Gitanjali

QRQqIel G16IQ 6ad @@ dle 1913 AdQIeq 67I6eR QN aIRBlen?
(A) NBAIRY (B) @Al (©) Aleal D) Melsd
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1 19; Who is known as the father of Indian Green Revolution?

(A) V. Kurien . (B) C. Subramanian
(C) M. S. Swaminathan (D) None of these
AL, AR L Faa @99
A) Q. QaaQ (B) 4. qeade
(©)949. 99. qifqlea _ (D) QAo ARIQ 608 998

120. Which one is the oldest mountain range in India?
(A) The Himalayas (B) Aravalli (C) Satpura (D) Nilgiri

QAR IFLQYSR ATAIRI Q AP Q'€1? |
(A) @AIRY, (B) 2@ (©) eda (D) @1eaa

121. Which one is the highest mountain peak in India?
(A) Everest (B) Nanga Parbat (C) Kanchenjunga (D) Yamnotri

QQE6R Yede aRed ade g Q QI @'§?
(A) 96Q6Q8, (B) @6Pl €9 (©) @IER"Q (D) AA6Q1&

122. Who was the first Indian to be a member of British Parliament?

(A) Jamsedji Tata (B) Raja Ram Mohan Roy
(C) Dadabhai Naoroji (D) Surendranath Banerjee

Q06 2°90Q 99y caIRgiel deid QN1 @9 ?
(A) QI969Q @1 Qg (B) QI QIAAIQQ QI
(€) QAR R (D) g6a@lel QIQIe]

123.“Kuchipudyi’ is a classical dance of which state?

(A) Tamil Nadu (B) Kerala (C) Karnataka (D) Andhra Pradesh

Q0d0 caa QIR §1glQ, Q61 26e'?
(A) Q18RS (B) 699 © @dice (D) 2IRLERs]

124. Which city of India is known as ‘Manchester of India’?

(A) Pune (B) Kolkata (C) Ahmedabad (D) Nagpur

'QAQEQ AICHRR QA6 IS QA QIF @'&1?
(A) €6@ (B) 621G (©) 2QAQIQIQ (D) QISR

125. Who is known as the ‘Metro Man’ of India?

(A) C. Rangarajan (B) Montek Singh Ahluwalia
(C) E Sreedharan (D) Ratan Tata

QIQEQ "6A6SI AIRR" QN6 @4 AfTe?
(A) 4. Qeraias (B) A6&@ @ aIeiRal
©) Q. §liea (D) QOQ SI6!
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126. National Youth Day is celebrated in whose memory?

(A) Jawaharlal Nehru (B) Swami Vivekananda
(C) Subhas Chandra Bose (D) None of these
@1g, 9e Qg Q! %@GQ dIee @QIdIa?
(A) @RIQIQRAIA 67629 B) g7 Geeqler
(C) 4oI9eL 68 (D) QA& ATlQ) y=tos %G@U

127.In which state of India, the archaeological site ‘Hampi’ is located?
(A) Karnataka (B) Tamil Nadu (C) Gujrat (D) Andhra Pradesh

6P QRYER €eeIge 9a "I Begde?
A) @4lice (B) @IFQRRIQ (©) eI (D) 2ARLEQE

128. Where is National Police Academy located in India?
(A) Abu Road (B) Hyderabad (C) Dehradun (D) Bangalore

@614, 6aIRY ORIQ QIQEQ 684016 20867
(A)2IQ 6QI@ (B) 219Q9I9IQ (©)6eAYR (D) QIGFIERIR

129. The National Disaster Management Authority (NDMA) comes under which ministry?

(A) Ministry of Parliamentary Affairs (B) Ministry of Urban Development
(C) Ministry of Finance (D) Ministry of Home Affairs

P14, adia, dQLIRAI @gds 606 ARIRG, A8R6q QI @6Q?

(A) 2°QQ 99014, AQSIRY, (B) @0Q QYR AQSIRY,
(©) 2 gdIeg, (D) G2 AEIRG,
130. The Konkan Railway connects which of the following places?
(A) Goa and Kanyakumari (B) Mumbai and Delhi
(C) Mumbai and Mangalore (D) Mumbai and Chennai

6RIFS EARARR 604 60a FIA] 6T @gR?
(A) 69112l 98" @AYIQAIN B) A91a 9o Gq
(©) 9910 98° AIGPIERIQ (D) GAIR 99° 69QIR

131. The Hawa Mahal is located in which city?
(A) Jaipur (B) Udaipur (C) Delhi (D) Gwalior

Q18I QR 6@ QAL ARFE?
(A) QAL (B) Q€S (©) @ (D) 661IRIRAR)

132. The Ashokan Pillar of which place has been adopted as the National Emblem of India?
(A) Sanchi (B) Vaishali (C) Sarnath (D) Allahabad

6R@ 10Q 268 IR AN KIS1Y, de1e QPR s FaIRAG?
(A) QI8 (B) 6Q481I@ ©)QIQRIel (D) ARALVAQ
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133. Who was the first Field Marshal of India?

| (A) A. S. Vaidya (B) K. M. Cariappa (C) K. Sundarji (D) Sam Manekshaw
A delg Preaidia 89 Bem?
(A)4.99. 63y (B) 6@.99. @9Q2a  (C)6x. afalalay (D) AIA AlEa@48

134. The Kaziranga National Park is located in which State?
(A) Arunachal Pradesh (B) Assam (C) Sikkim (D) Meghalaya

ARQWEP Q191Q, QRS 606 QURYER 2T ?
(A)UQSIER geasl  (B)aIQIA ©daq (D) 6@,

135. The phrase ‘God’s own country” is used to refer to which Indian State?
(A) Kerala (B) Goa (C) Odisha (D) Himachal Pradesh

@@ QARIQ QUNIAEF B 606l 6RIRA QRIAN?
(A) 6@ (B) €ali2ll (©) G4l (D) QAI0R d6ad

136. Where is Buland Darwaza situated?

(A) Delhi (B) Fatehpur Sikri (C) Lucknow (D) Meerut

R AQAIRI 6RA0IER 2T ?
A) Gt (B) €r60dq 4@ (€) @6l (D) 8Qg!

137. Who among the following was the first Mughal emperor to allow the Britishers to establish trade links
with India?

(A) Akbar (B) Jahangir (C) Shahjahan (D) Aurangzeb

Q8¢ Ao a@6 Q&Y N6 Qa0 @ael alg deleq 6aa 6aITn AAIS 290G conlien ?
(A) 2DQQ (B) IQI&PQ) ©) 8IQIQIe (D) 2IQQEPERe

138. In Bengal, Where were the headquarters of East India Company located?
(A) Fort St. David (B) Fort William (C) Fort St. George (D) None of these

Q6P 6046IQ 6RQ016Q A% AdI eMNA1Q Jo eIdiRG, AIde eaIaIasial?
(A) 6N 694 6000 (B) 6N BRQL ©6RFTeag @d  (D)6RISAT Ged

139. Which of the following rivers flows from India to Pakistan?
(A) Sutlej (B) Ghaghra (C) Betwa (D) Tapti

Qgadie aaldiaw duig 6od aal AIQeQ AIRLIY 4916 caad?
(A) 996 (B) QAISIQY (C) 690e! (D)©I1g

140. Among the following places, where is the average annual rainfall the highest in India?
(A) Chennai (B) Kolkata (C) Shillong (D) Thiruvanthapuram

AgRGie giadias Arlig 6adoIsq AR QIR 98ale aleen?
(A)60QIR) (B) 6R1QQI0! (C) éimep D) dQeagas



141. Which state has longest coastline in India?

(A) Tamilnadu (B) Andhra Pradesh

6@ ANIQ AFQ QS Qlden 26e?
(A) QIGRRAIQ (B) 2QLEQE!
142. The city ‘Wuhan’ is situated in which country?

(A) Italy
(C) United States of America

Q210 ARG 629 69616Q ARLE?
(A) QO
(C) 2R
143. Who wrote the book ‘Geeta Govinda’?
(A) Upendra Bhanja (B) Jayadeva

'O @9 990l *ReA?
(A) Q6EQ Q& (B) @K16QQ

(C) Gujrat

(©) Qe

(B) Brazil
(D) China

(B)91@R
(D) QIRQ!

(C) Balaram Das

(C)@@qId QIg

144. The hot water spring ‘Atri’ is located in which district of Odisha?

(A) Khurda (B) Angul

QA% 9994l 28 BG4I 69@ @RI6q 2QEe?

(A) 66118 (B) AQ9I@

145. King Kharavela belonged to which royal dynasty?

(A) Nanda (B) Maurya

QR 'HQCRR 6RE ARPIQ AURGS Elen ?

(A) @@ (B) 681ty
146. Which river has its origin from Gonasika?
(A) Mahanadi (B) Baitarani

6e@ @@l 'caIRId Q Al 62198 ?
(A) A1 (B) Q@&

147. Which of the following places is a Buddhist site?

(A) Khandagiri (B) Udaygiri

(C) Gajapati

(C) oedd

(C) Chedi

(C)69@

(C) Budhabalanga

(C) QQIeReP

(C) Lalitgiri

QoRde QIeQIee AYQ) CRAE 9@ 618 g@ AU6S'Y

(A) S1€5Q (B) Q@GR

(C) AREAQ
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(D) Kerala

(D) 6QQR

(D) Gangadhar Meher

(D) GIGPIRIG) 67629

(D) Kendrapara

(D) 68Q1CQ!

(D) None of these

(D) 69Q6 Q6@

(D) Brahmani

D)4l

(D) None of these

(D) 6260 Q6@
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148. The waterfall ‘Duduma’ is associated with which river?

(A) Indravati (B) Nagabali (C) Rushikulya (D) Machhkund

2941 @RgAI6 60Q 9@19Q a°ge?
(A) RQI961 (B) QISIaq1 ©) Q8 D) AIgQE

149. For which book Gopinath Mahanty got Jnanpith Award?
(A) Matimatala (B) Paraja (C) Amrutara Santan (D) Danapani

cqIdalel dQ18 6aa aaeYa ie KIedlo dogiq aIngiea?
(A) AIFARIR (B) Q& (©)9eQ 9aIe (D) QIS

150. Which tribes are not native to Odisha?

(A) Munda (B) Kuki (C) Santal (D) Kandha
6aQ 2IRQIICIe 6FaIQ 9eR?
(A) 94l (B) @& ©) AR (D) @9
Part-I1
ENGLISH LANGUAGE

SECTION - A : Grammar : 20 Marks

Instructions: Each question under this section carries ONE mark. Please read the instructions carefully
and answer the questions by selecting the right one out of the multiple answers given below as A, B, C, D

Instructions for questions from No. 151 to 160 :
Fill in the blanks with appropriate Articles, Nouns, Verbs, Prepositions from the choices given below:

151. boy is ideal student in the class.

(A) A, the B)A,a (C) The, an (D) An, the
152.To is human, to divine.

(A) beg, give (B) commit, forget (C) perish, work (D) err, forgive
163. Odisha has witnessed the of a number of severe cyclones in the recent years.

(A) ocurrence (B) occurence (C) occurrence (D) ocurrance
154.1 the station after the train

(A) reached, had left (B) had reached, left
(C) was reaching, left (D) was reaching, was leaving

155. My father is staying in a hired at Bhubaneswar.
(A) acommodation (B) accommodation (C) accomodation (D) accomodasion
156. It is you who responsible for the loss.

(A)is (B) are (C) shall (D) may



115517 / A / Page 20 of 32

Sr.famil, 17

(A) weren’t (B) aren’t (C)isn’t (D) wasn’t
158. Not only Rama but also his brothers equally guilty.

(A)is (B) are (C) was (D) shall
159. Either of the boys got a prize.

(A) has (B) have (C) was (D) were

160.Open your book page 10.

(A) at (B) in (C)on | (D) with

Instructions for questions from No. 161 to 170 :
Do as directed and answer the questions from the choices given below:

161. Direction: Change the sentence into indirect speech
He said, “ I knew the man.”

(A) He said that he knew the man. (B) He said that he knows the man.
(C) He said that he had known the man. (D) He said that he was knowing the man.

162. Direction: Choose the correct part of speech of the underlined word
Still water runs deep.
(A) noun (B) pronoun (C) adjective (D) adverb

163. Direction: Change the sentence into passive form

Keep to the left.
(A) Left is kept (B) Let the left be kept
(C) Left is to be kept (D) You are directed to keep to the left

164. Which of the following sentences is grammatically correct?

(A) I do not know where did he go? (B) I do not know where has he gone?
(C) I do not know where he had gone? (D) I do not know where he had gone

165. Direction: Spot the error in a part of the sentence
I have spent many a sleepless nights when I was in Mumbai during Covid 19 period

(A) I have spent ; (B) many a sleepless nights
(C) When I was in Mumbai (D) during Covid 19 period

166. Direction: Find out the correct meaning of the underlined word
Babusan is a promising actor in Odia film industry.

(A) swearing (B) entertaining
(C) charming (D) showing signs of being successful in future



167. Direction: Find out the phrasal verb of the underlined word

‘One should not despise the poor.

(A) Look up (B) Look down (C) Look at

168. What is the feminine gender of bullock?
(A) ewe (B) vixen (C) heifer
169. Direction: Find out the subject of the sentence

In the newspaper, an interesting article appeared yesterday.

(A) in the newspaper

170. What is the antonym of ‘essential’?

(A) unessential (B) inessential (C) disessential

(B) an interesting article
(C) appeared yesterday (D) None of the above
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(D) Look down upon

(D) filly

(D) ilessential
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Instruction: Each question under this section carries ONE mark. Please read the passage carefully and
answer the questions by selecting the most appropriate one out of the multiple answers given below as A, _
B, C D

Science and technology not only dominate the psyche of humanity but also the whole biosph.ere. Our
civilization is also greatly influenced by science and technology as they are related to human happiness.

The original cosmic evolution of the biosphere was one that promoted, supported, nourished, sustained
and enhanced life. Life went on adding to the evolution with newer species and ecosystems, even more
beautiful and vibrant than the ones before.

Our biosphere accommodated a pleasant weather cycle and climate system to support these newer
species, keeping everything in dynamic equilibrium.

Now the biosphere is overburdened and ailing. Some of our ecosystems have already collapsed, while
others are at death’s door. Ever increasing pollution coupled with over-exploitation of natural resources
and greenhouse gas emission is driving several species towards extinction. This is not a phenomenon that
has occurred by itself, and neither has it been caused by human beings alone. But it has been definitely
spurred by so-called advances in technology.

In this millennium, we no longer live in a biosphere — we are inhabitants of a technosphere. A
technosphere is an impaired biosphere that has no affinity with values of life or sustainability and
evaluation of life. Although technology has empowered civilization, it has also reduced it to being a mere
tool of science and technology. And when the whole civilization turns technocratic, science and
technology are bound to dominate, causing life to shrink. The intensifying climate crisis is but a symptom
of the biosphere’s illness and life’s gradual collapse.

We have reached a point where we are intolerant of anything remotely unscientific in our contemporary
world. Scientists look for alternatives, but even these solutions are sought in the domain that has caused
these problems. In short, we are caught in a trap of our own making.

So, what would be meaningful for the welfare of humans? Naturally, something that would enhance life,
serve to integrate ecosystems and cleanse our environment. Enhancement of life includes betterment of
human life and vice versa. If life shrinks, we cannot blossom.

Science and technology by themselves are neutral; it is the way we use them that has either a positive or
negative impact on our lives and environment. And when we use science in a manner that increases un-
sustainability and unhappiness in our lives, how can we rely blindly on science for our happiness?

171. What is the central theme of the passage?

(A) Science and technology are meant only for increasing pollution, over-exploitation of natural resources
and greenhouse gas emission leading to extinction of several species.

(B) Science and technology are no longer required as they adversely influence our civilization having no
affinity with values of life or sustainability and evaluation of life.

(C) Meaningful use of science and technology are essentially required for mankind in the contemporary
world as they immensely contribute to our civilization, human welfare and happiness.

(D) Use of science and technology should be banned as they increase un-sustainability and unhappiness in
our lives.

172. As per the passage, which of the following is correct?

(A) Life on the earth is lowered by the evolution of the biosphere.
(B) Life on the earth is enhanced by the evolution of the biosphere.
(C) Life on the earth is decreased by the evolution of the biosphere.
(D) Life on the earth is removed by the evolution of the biosphere.
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173. What are the factors responsible for the collapse of our ecosystems?

(A) Ever increasing pollution (B) Over-exploitation of natural resources
(C) Greenhouse gas emission : (D) All the above

174. What are the bad consequences of science and technolo

gy on our civilization, human life and
environment?

(A) Our biosphere is becoming overburdened and ailin
ecosystems.

(B) Intensification of climate crisis and extinction of several species.

(C) Technology has reduced our civilization to bein

empowered our civilization.
(D) All the above

g resulting in gradual collapse of some of our

g a mere tool of science and technology although it has

175. What would be the meaningful use of science and tec

hnology to have positive impact on the society,
human life and environment? '

(A) If we use science and technology for the welfare of the human beings and society which would
enhance life, integrate ecosystems and cleanse our environment.

(B) When we use our science and technology in a manner that would increase un-sustainability and
unhappiness in our lives.
(C) If we rely blindly on the so-called advances of science and technology for our happiness.

(D) If we use science and technology indiscriminately unconcerned with its impact, either positive or
negative, on our lives and environment.

Part-II1
ODIA LANGUAGE
SECTION-A : Grammar : 15 Marks

Gedaiont : ¥ QalaITa g6eIe g9 909 @eq dis <9 IS 0d8 | 9 AN
QRUAIRYS JIIE R AR ALRIER GG IS° 60IR6R gea Q6016 Qaa f1:IQ A0e 2ead

Gda @ag |
176-QaRdle auiq cadel O s ?
@ g (B) g8l ©gssl g8

177'e" a0 a@0 '¢f 249Q 61§ 90 QAR 918 6ral |

@ a9 of a9
a) &l e
b) & i) Qa4
c) 4 i) GIRSY
(A) a-i, b-ii, c-iii (B) a-ii, b-i, c-i (©) a-iii, b-i, c-ii (D) b-i, c-ii, a-ii

178.'qe6'q 21 @'a?
(4) 6189 2090 @§ (B) 6129 QC6aId @ @Q)
©) 989 20ad @ @] D) €§8Q QAL @ @9



115517 / A/ Page 24 of 32

1786 @ of 2660 89l 60q 90) @@Q Aera 6nd|

@ 29 of 26
1. @9Q 2.9@
2.24 b.69QE

[-N

.eee cd9

4.6016RAID  d.QEPe

(A) 1-d, 2-c, 3-b, 4-a (B) 1-c, 2-b, 3-d, 4-a (C) 1-b, 2-a, 3-d, 4-c (D) 1-c, 2-a, 3-d, 4-b :

180.¢QIQ QEER) @06l F91: 9 Qo9 2l @617
@) §Q @8 @l B) AL, I, (©) Q861 QEER Q88 (D) 6@IQ A1Q@!

181. 4@ 6100 5@ @ql
A) Qg (B) QQIdl © QQdl D) QI

182.'gQQ'q QaQ1e €@ @'81?

(A) Q861 (B) QY& ©) Q88ie D) 2t

m

183. ¢’ 206 660 QF G '¢f 20Ea 624 Q

(o]

Q 2 QARG | 9@ QF e 2d dals @6Q

4RI 6mst |
@ of
1. Zem ged @. gla au8g,
2. @i0eQq €lo ¢l o@al
3. qlaq Qo . Q8 Qs

4. 2I86Q YRRl @. ¢e @& @2

@wl1-e@, 2-q, 3-¢, 4-d@ ®) 1-¢, 2-@, 3-@, 4-d

(C)1‘Q) 2'@) 3‘611 4"Q (D)1-G1I 2‘@) 3'@) 4'%1
184.caa0 A0Q 69 9o9IQ Q62 |

(A) A6G (B) @IQAGY ©agd D)QeqIe

185 aal 'ag'q 4ode Q6L
W) (B)46QUR (© 4194 (D) Q41
186.9q@’ Q668 0@ A6 66 A8 Aeq 2T AQR eR?

(A) 1€ (B) 9 (C) A6 (D) Q&P



115517 /A/ Page 25 of 32
157 990 QIEPe QI 9986 auy Q9 QIE"

(A) Q&rl. (B) Qe (©) 6819 (D) Yol

188.'00, @001 Q@' - 9219 IRUQ6Q galdl @q|

A) 2189 (B) BRI ©) @ag (D) 8218
189 Qg 2age 66n 69 A6q ZQIe €6Q |
(A) QISR (B) QTR ©uUREe (D) AAGE!
190-QI6 Binea A4 e’ - g 9odq a0e e Qig|
(A) Qell o8 (B) 6K6Q CQIERRER @ 6RIS Q) 6@ QI
©) NS 621Q DT QS (D) AR Q8¢l €l

SECTION-B : Composition : (5 Marks)

Qedalont: 9§ aadaeq gseie d¢q 90« Qe aiIe 99 A1 988 | 9 Faigeq
Fuaedel gggde a9 derica agg Je° deeIReR deq Ql6Qid aaq Auig
d0e @@l g aag |

191. QIeQ cadl d 6@ cafl

A) AR (®) AR © ARG @) QRIS
= ageleq csipad |

) g ®) d6m (©) 9eEi6m (D) AQERIAIER
198904 qaia 9o Geidielas 26 geml

(A) QQQ (B) QQ) ©) QIdq D) AQE
194601 a8l Q6@ 6060 9Q), 69 QI8 QR |

42199 (B) QA9 (©)6QQIQ (D)9
195 qGarl ocenq aq cdql e o'q?

(4) 26 G982 B) 26 92l ©) 2o a2 D) &S Jeidiel

=N



115517 / A/ Page 26 of 32
SECTION-C : Comprehension : (5 Marks)

Sedlan! : 4G QUGRITN g6eia 949 A0R A8R AIN 9@ FIF 6FF | 79 AYe 2AGERLTY
QQ A2RI6A Q@ I° O G6R FALINYS 9] AT Q0@ Qa9 G40 @9g |

oIFIQEEq @68 d@agl e[al=] Q@@Q a6 AR dea dalQle ceallenl elerq Qld
Aeeq11 @leadida Qe g 6@ QAR Sleml d01q, 699l @4e G [mtelal o)
210540l QL8 6d 4- @6Q) deoa QAQIQQE 2REQ ASIN @g&lG@l Q6r alem 64 RIIQQ@GP
214 QelgIN6a QTR 66 Qe QIC QLR CIFER Q@ 62 QAR YR8l diRem| €dQ
g QslY cQdl Alglie? dicie 21g 2l ARdel dieq 2QG canl |

@ q9Q, €6Q AR doa oI @Rem-"og! Q@ Qeq!" de olar @l Q@GIQQI Q@
@|Q @'&'ﬂl% Ql@lém AYY @5 Aol @ -"A0eQ Q@ Qe QI @Qe QHQ GISZIZI 9Q
@OlOQ q&@@ﬂ AEQ A QAL I Q@ 2eQ 1"

de aeIQml -"diel! @6e QaQ 219Q Q@‘? Q64 6419 arl Q Qda Aol 6RIR QeQRIR @EQ |
aa Q@ @@8€1|€T€Q QEMEI, delcidl, @@1%3Qé1| AYAS Q@R Al Q@ 6l 2led @
E@EQ egitla @@\QI%I

AQIea1 deq ARIqle Q@ cREm| 64 R@6R - QIR BFQ ALY @l@l RIAQQ KM 4 Ym

°6811TG 69| €l6l, A8 96 deeia digl Qall QUMY aqq 8¢, ad, 60, Q%;@,
eI 2Q a8 AQIQEER Gle! | AR @Gle A 9Q a8 AQIQE QQ QY @R QG@I g
Q@ﬂQQGQ AR1eQ QQI@Q’]@Q@ RPN @6 499 @Y Q]ﬂd?ﬂ G@Iﬁla@lﬁl 2ARQ
qqﬁ@ Q@ 2GR | Go°, AL Q@ 6l QRél @0e! A6 e | 99 QMU AR
g1Q dipsn @@ QQQQ @l Q@CISZL RINDQ, @EQIER e QL6Qld QR |

AQIeR1 €eQ 66 adeRd caRdem 0lQl @Q Jea G Q%;@Géfl €eQ AIR6Raq IR
deaIRel 98° Qdaeq ARAIYel 2QAe @RS die Fleleq ag8lda a@ide A9l
Q@ Gg, Qler, a8, A6l AQ quje@ma sa caen A o 60q goq BIge eea Q8|
Qamel, agasl 210 A6 CQICEIPR He6I6R 2QeRe| AQQQ QKN feolq aais
goYRe 628 @@eg AR QIQQ 69 Qe QIRRINER FAPBAY 8 AFIeRIUS!
QS 61901 Q&1 ool Qal @89l 9@ e@szaQ qéll

196. @190 IR @9Ql diR @'6l @8 QQRIQ?

(A) QS , VAR, FAAR, SAISIQ G 67Q

B) 18!, AIF6IP!, §6PRl, AA1RQSI G GHId

©) VRO, QYIS qwe@’l@@ fool, aleldel 6 e
D) AIFIBR §eal, SRR, 6291, 16 6 adosy

197. qQI6aI0e H96I6Q 6RANIER BQaRie?

A) 261, 9Qdl, AL B) HQ@ , 6_I¢
©de, a8 (D) VRS, €181



115517 / A/ Page 27 of 32
18- 8giide auiq aadeige 6q @'d QpI?

K QAY QIS (B) QT ¢RIl © gég (D) AQe

199.6¢10 8aq 2i0q e?

4) 9 aeli QFcq 9919 QaIRN9ad calnalg

B)90I99 1 ade a8aQI9e g aqi @8 qed

O RIAAIQ 96m 9 QA 6aIT6 626

(D) 8IS Q606 geaia dId 6 QERsIE 91 d89Q19e6q 991 6 U cQIagalg

200.7q9 ! fe° @@g" 9 @Rq 2¢f @'a?

(A) D6 @96 QAQ G

®)@9eQ de @2

(©) @0I0Q AQQQ @9

)98 a6eq qaed age 2IA adeea aad 8 298 |



115517 / A/ Page 28 of 32

KEPT INTENTIONALLY BLANK
USE FOR ROUGH WORK.



115517 / A/ Page 29 of 32



115517 / A / Page 30 of 32

KEPT INTENTIONALLY BLANK
USE FOR ROUGH WORK.



115517 / A / Page 31 of 32




115517 / A / Page 32 of 32



	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12
	Page 13
	Page 14
	Page 15
	Page 16
	Page 17
	Page 18
	Page 19
	Page 20
	Page 21
	Page 22
	Page 23
	Page 24
	Page 25
	Page 26
	Page 27
	Page 28
	Page 29
	Page 30
	Page 31
	Page 32

